
Hw: Section 8.3 p. 501 #8-28 EOE, Section 8.4 p. 507 #9-41 EOO, 51
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[bookmark: _GoBack][image: ]
image7.png
19. Interior Design A square green rug has a blue square in the center. The side length
of the blue square is xinches. The width of the green band that surrounds the blue
square is 6 in. What s the area of the green band?

(@ Wental Math Simplify each product. @ SeeProblem
20. 612 21,79 22,487 23. 403 24. 302*
Simplify each produc. @ seeProblem
25. (v + 6)(v ~ 6) 2.0+ )b~ 1) 27.( - 5)(z +5)

28 (x— 3)(x +3) 29. (10 + )(10 - y) 30. (1 - 13)( + 13)

(@ Mental Math Simplify each product. @ SeeProblem
314203 327981 33,6357 34,399 - 401 35.303 - 207
Simplify each product.

36. (m + 3n)2 37. (2a + b)* 38, (45 — 1)> 39.(g - 7h)*

40. (9k + 2q)° 41, (8r - 55)° 42, (s + 6°)? 43, (p* - 9¢)?
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@ 51. Think About a Plan A company logo is a white square inside  red square. The side
length of the white square s x + 2. The side length of the red square i three times

the side length of the white square. What i the area of the red part of the logo?
Write your answer in standard form.

* How can drawinga diagram help you solve the problem?
« How can you express the area of the red part of the logo asa difference of arcas?
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Answers

Practice and Problem-Solving
Exercises (continued)

19.36 — x2in2  20.3721

21. 6241 22.2304
23. 162,409 24.91,204
25.7 - 36 26.b% — 1
27.2-25 28.x2 -9
29. 100 — 2 30. 2 — 169
31. 159 32. 6399
33. 3591 34. 159,999
35. 89,991

36. m2 + 6mn + 9n?
37. 482 + 4ab + b2
38. 1657 — 8st + 12
39. g2 — 14gh + 49h?
40. 81k% + 36kq + 4q?

41. 64r2 — 80rs + 255°
42. 52 + 125t + 36t
43. p® — 18p%q? + 81¢*

44. 16x% — 492

45. a2 — 36b%

46. 4g° — 81h?

47.r% - 95

48. 4p* — 49¢?

49. 9w - 24

50. The middle term should be —2(21a)
because

(@ — b? =a% - 2ab + b%
(32 — 72 = 9a2 — 42a + 49
51. 8x% + 32x + 32
52. 16x2 + 160x + 400
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Simplify each product using the Distributive Property.
8 (x+ D+ 4) 9= +8)
M. (¢ - 10)(c - 5) 12 2r=3)(r+ 1)

Simplify each product usinga table.
1. (x +5)(x - 4) 15, (a = Da - 11)
17, (2h = 7)(h + 9) 18 (x — 8)(3x + 1)

4 SeeP
10. (m + 6)(m — 7)
13, (2 + T)Ex — 4)
® SeeP
16. (w = 2)(w + 6)
19. (3p + 4)(2p + 5)
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8. x2 + 11x + 28
9.2 + 5y — 24
10.m? - m - 42
1.2 - 15¢ + 50

12.2r2-r-3
13. 6x2 + 13x — 28
14,2 + x - 20

15.22 - 12a + 11
16. w2 + 4w — 12
17.2h2 + 11h — 63
18.3¢ —23x -8
19. 6p? + 23p + 20
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20. (a + 8)(a — 2) 21, (x + 4)(4x = 5) 2. (k- 6)(k + 8)
23. (b - 3)(b - 9) 24, (5m - 2)(m +3) 25. (92 + 4)(52 - 3)
26. (3h + 2)(6h - 5) 27. (4w + 13)(w + 2) 28. (8c - 1)(6c — 7)
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20. a7 + 6a — 16
21.4x% + 11x — 20
22. k2 + 2k — 48
23.b% - 12b + 27
24.5m? + 13m - 6
25. 4522 -7z - 12
26. 1802 — 3h - 10
27. 4w? + 21w + 26
28.48c2 - 62c + 7
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Simplify each expression. % SeePro

9. (w+5)? 10. (1 + 2)? 1. (35 + 92 12, (2n + 7)?
13, (a - 8 14, (k- 1) 15. (5m - 2)” 16. (4x — 6)?
Geometry The figures below are squares. Find an expression for the arca of & seePro
cach shaded region. Write your answers in standard form.
17. x+4 18. x+3

x4 x+3
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9. w? + 10w + 25
10. h% + 4h + 4
11. 952 + 545 + 81
12. 4n? + 28n + 49
13. 2% - 16a + 64
14. k2 - 22k + 121
15. 25m? — 20m + 4
16x2 — 48x + 36
17. (10x + 15) units?
18. (6x + 9) units?
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